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0DVDODK� \DQJ� PHODWDU� EHODNDQJL� DGDQ\D� SHQHOLWLDQ� LQL� NDUHQD� VHPDNLQ�

EDQ\DNQ\D�PHUHN�\DQJ�EHUPXQFXODQ�NKXVXVQ\D�SDGD�SURGXN�PLH�LQVWDQ��6HKLQJJD�

SURGXVHQ� VHPDNLQ� EHUORPED�ORPED� GDODP�PHPHQDQJNDQ� SDVDU� GHQJDQ� EHUEDJDL�

FDUD� \DQJ� GLWXQMXNNDQ� DJDU� SURGXN� PHUHND� WLGDN� NDODK� VDLQJ�� .KXVXVQ\D� SDGD�

SHQLQJNDWDQ�EUDQG�LPDJH GDQ�MXJD�NXDOLWDV�SURGXN�

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�SHQJDUXK�DQWDUD�EUDQG�LPDJH�GDQ�

NXDOLWDV� SURGXN� WHUKDGDS� OR\DOLWDV� NRQVXPHQ�� 0HWRGH� \DQJ� GLJXQDNDQ� GDODP�

SHQHOLWLDQ� LQL� DGDODK�PHWRGH�SHQHOLWLDQ�NXDQWLWDWLI�GHQJDQ�SHQGHNDWDQ�GHVNULSWLI��

7HNQLN� SHQJXPSXODQ� GDWD� GDODP� SHQHOLWLDQ� LQL� DGDODK� GHQJDQ� PHQJJXQDNDQ�

NXHVLRQHU� WHUWXWXS� VHKLQJJD� UHVSRQGHQ� \DQJ� EHUMXPODK� ��� RUDQJ� KDQ\D�PHPLOLK�

MDZDEDQ�GDUL�SHUWDQ\DDQ�\DQJ�GLVHGLDNDQ�ROHK�SHQHOLWL�

+DVLO� DQDOLVLV� GDWD� GDODP� SHQHOLWLDQ� LQL� GDSDW� GLNHWDKXL� EDKZD� YDULDEHO�

EUDQG� LPDJH �;��� EHUSHQJDUXK� WHUKDGDS� OR\DOLWDV� NRQVXPHQ� �<�� GHQJDQ� QLODL� W�

KLWXQJ�VHEHVDU��������9DULDEHO�NXDOLWDV�SURGXN��;���EHUSHQJDUXK�WHUKDGDS�OR\DOLWDV�

NRQVXPHQ��<��GHQJDQ�W�KLWXQJ�VHEHVDU�������9DULDEHO�EUDQG�LPDJH��;���GDQ�NXDOLWDV�

SURGXN��;���VHFDUD�VLPXOWDQ�EHUSHQJDUXK�WHUKDGDS�OR\DOLWDV�NRQVXPHQ��<��GHQJDQ�

QLODL�)KLWXQJ�VHEHVDU��������'DQ�KDVLO�XRWSXW�NRHILVLHQ�GHWHUPLQDVL�VHEHVDU�����

VHGDQJNDQ�VLVDQ\D�����GLSHQJDUXKL�ROHK�YDULDEHO�ODLQ�\DQJ�WLGDN�GL�WHOLWL�
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